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The ﬁgures in the margin mdlcate full marks
for the questions.

Answer all 'quéstidns._ .

1. Answer 'any six‘_ of the following questions : |
S 2%6=12 *
(a) What do you mean by a process Z."

(b) What is bootstrap program ?

(c) ‘What are the. functlons of the followmg'
system calls 7

' @) fork 0O

(1) exec()

- (d) R/Pa!: %I(l,nﬁcal sec; gIStEI‘Ed

| [Tum _ove_r




- {(e) - What cio ybu mean by Belady's. anema,ly Y,
(f) What is monitor ? a
, '('g) * What do you mean by 't]?:waishing ?
2. Answer any six of the following questions :
| | 3%6=18

(a) What is race condition ? Give example.

(b) What is semaphofe ? What are the different
| types of semaphores? -

(c) Mention the return values and associated
meaning of ‘fork()’ system call.

(d) Let a program of size 256 MB has to be
" executed in a single processor machine of
page size of 512 bytes, how many entries

will be there in the page table ?

" (E)' Differentiate between absolute path aild I'I
- - relative path of a directory / file with propng FZi |
example. |

() What is External Fr_agméhtation ? How : |
- External fragmentation can be reduced 7

(2) What is compaction ? State with example.
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3. Answer any ten of the following _Qu,estiéns :

. i E | - 4x10=40
Unregistere : 5 '
P g ﬁ? q/hﬂ.t 1s thread ? What are the benefits of -
- multithreaded programming ?
~ (b) What are the servises
| ~ Operating System 2
(c) What are the
- Unregistered =

(d) "",i'lilmﬁf::I gu&ntll)lm for Round Ro.bih scheduling -
‘should not ¢ too large or too small." Tuctifo I
your answer., | & mall Jus_tlfy_

scheduling criteria ? -

(e) Differentiate between short-term scheduler
and long-term scheduler. '

(f)l Explain the ﬁ;ur nec ' G0 '
o _ ess iti
o -l eces ary condltloli_s for

(8) "For multiple in | o
stance of resource, cycle i
not a necess urce, cycle is

| : - 4 Nlecessary and sufficient condition for
- Unregistedeatilock.” Is it true ? Justify nton for

(h) .Diiferentia't'e betwee o g S
| - -CI1  segmentatio '
paging scheme. ' . n and

) Hml%f Peterson's Solution solves _thé Mutual-
| ¢Xclusion requirement of crit; ection
' problem ? | S

57/CS 131403 (3) - [Tum o
| : over |

provided by the ’

iy T L] "
AbE e




() Suppose that a disk drive has 200 cylinders,
numbered 0 to 199. The drive is currently

~ pending requests in FIFO order is :
98, 183, 37, 122, 14, 124, 65, 67.
Si:&rting from the current head position, what
is the total distance (in cylinders) that the
disk arm moves to satisfy all the pending

FCFS, SIF

(i) What s the turnaround time and waiting

requests using FCFS disk-scheduling algo- PDFZilla - Unregigtersideach process for each of these

- BT " scheduling algorithm ?
(k) Write short note on ‘multilevel queue Y (iii) Which particular algor%ﬂlm \Zﬂl hyog -
“scheduling’. - - o | | prefer fo_r CPU -S_chedulm;g 311 why &

4. Answer any three of the following | qﬁestions b
| L 10x3=30

(a) 'Consider the following Set of processes,

L . | * Allocated
with the length of the CPU burst given in - T

-~ milliseconds :

-~ (b) Consider the following snap-shot of a
L '_syStem phe | o

ABCD |[ABCD

ABCD

The processes are assumed to have flrrived in
the order P1, P2, P3, P4, PS5, all at time0. ..
| serving a request at cyiinderﬂ The queue of PDFZilla — l{BreﬂF;‘sr% ¢t charts that illﬁstra..te the
. 1] 7 execution of these processes using the
- scheduling aigorithms : __ .
~ (non preemptive). Priority Scheduling
and RR (quantum = 1).
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Process Burst time Priority PDFZijlla - U -
P1. - 10 3 | "
: P..
P2 1 1 =
: Pq,
P3 2 3 P,
P4 1 4
P5 5 -2
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Answer the followmg questwns usmg_
banker's algonthm -

(1) What is the content of the matrix
Need ? -

(11) Is. the system in a safe state ? J ustnfy |
your answer.

P Qf ;ﬂ hrt?qnlelsnﬁﬂg lstﬂr\@dfor (O 1,

0, 0) can the _request be granted
immediately ? Justify your answer.

(c) leen the page reference string :

1,2,3,4,3, 3416 7,8,7.8, 978954542;-'

Four ﬁ'ames allocated for the main memory. -

Determine the number of page.fault using
~ the following page replacement algorithm :

(i) FIFO
(i) LRV
(iii) Optimal.

| ((B Discuss the Indexed allocanon method for
| DﬁZlﬂﬂaﬂoU nneglstﬂmd dlagram
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